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1 Which State of the Matsya Union was willing to be integrated in UP on the basis of
referendum (Majority Vote by Public) ?

(A} Bharatpur (B) Karauli
(C) Dhalpur (D) Alwar
AT HY W WA W T WA & FE % AT U IOt WRe & any ffieor % firg dan
)
(A) wTEqY (B) @i
©) dmg ' - (D) et
2 After the conguest of Chittor by Akbar, the coins issued by the Mughal rulers were
known as 5
(A) Dromm (B) Sikka Elchi
(C) Chittori (D) Dinar
Lﬂq:ﬂ{ﬂfrmt?ﬁﬁﬁﬂ?ﬁwﬂﬂﬁﬂwﬂmﬁﬁfhﬁ arfi g4, T
WET A 49r |
(A) == fereRmT T
(C) Tadid) (D) #FE
3  Who among the following wrote "Jivan Kutir Ke geet” 7
(A} TFainarayan Vyas () Iliralal Shastri
(C) CGokul Bhai Bhatt (D) Haribhau Upadhyaya
‘ofre AT ha e ¥ % ek g0 R T ?
(A) FEECET = g g
(C) TEw 9% wF (D) wftwrs e
4  Who was the first woman parliamentarian of Rajasthan 7
(A} Yashoda Devi (B) Sushila Bangaru
(C) Sharda Bhargava (D) Vidya Pathak
TeRUE W waw wfta gieg ee @ 7
(A) Tyl 34 (B) e "mrE
(©) wrear wvia (D) faen wem
5  Karna Bhil was the famous player of which instrument 7
(A) Nada (B) Morchang -
(C) Satara (D) Karma

& Hie T 9 W Wi 9Ee or 7
@) = (B) wree
) @ (D) o



RSMSSB Junior Instructor Electrician 24 March 2019 Question Paper 6PAPERS.COM

6

10

The site of Bagore lay on river in district Bhilwara.
(A) Luni (B) Kothari

{(C) Banas (D} Chambal

st Ford i e api Ree |

(4) it

(C) == | (D) e

Who among the following was the composer of Eklinga Inscription (1460 A.D.) ¥

(A) Maheswara (B} Jagganath Rai
{C) Rana Kumbha (D) Jagat Singh
Frforta & § umie fimme (1460 §.) & 7@s & 7
TRt (B) =Y T4
(C) Tom g (D) wrma e

Which one of the following Pratihar rulers changed the capital from Mandore 1o
Merta 7

(A) Harishchandra (B) Nagbhatta [

(C) Vatsaraj (D) Dev Raj -,

Freffas witerr smest & @ fngs 9oeiT &1 Gowe REgar S e g 7
(A) #ftga= T qaH

(C) == (D) = T

Which ruler of Jaipur constantly served the three Mughal emperors - Jahangir,
Shahjahan and Aurangzeb ?

(A) Man Singh (B) Ram Singh
(C) Mirza Raja Jai Singh (D) Sawai Jai Singh

WA & fRE ogE Wt 9 e oEef - seii, smewel ol ofriTee @ gar @i 7
(A) w7 fiE (B) T iz

(C) Fratt e wr fife (D) ward vy fife

In which region are the Ratvai folk songs sung 7

(A) Mewar (B) Marwar

(C) Mewat (D) Hadoti

Toard wie e B s o e W ¥ 7

(A) #ais (B) #rgams

(C) #m (D) =
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Who built the Hawamahal at Jaipur ?

(A} Sawai Jai Singh (B) Sawai Pratap Singh
(C) Sawai Madhosingh | (D) Maharaja Ishwar Singh
waqt H gaAEa & P B wEmEr 7

(A) worf wa s & wam fie

(C) warg wifie weom (D) werwer $sa¢ fis
Which of the following mention the date of the foundation of Jodhpur and Jaipur 7
(A) Dayaldas Ki Khyat (B) Bankidas Ki Khyat
(C) Nensi Ki Khyat (D) Eklinga Inscription
Freafiflas & & = saqT o siage % e fify sa@ ko

(A) =awEE & = T @ s

(C) w1 = (D) umhin Riwma

Who is the Kul Devi (Clan goddess) of the Rathore dynasty 7

(A) Ashapala (B) Shakambhari

(C) Magnechiji (D) Bijasan

T8 TE W Fuad B ¥ 7

(A) mamaTaT (B) sy

(©) e (D) e

The compositions of poet suryamal Misran are in which language ?
(A) Hadoti (B) Dhundhari

(C) Mewari (I2) Marwari

e eivew foaw #) ToEmd R T A 7

(A) e (B) ey

(C) Frar (D) Arcar

Where is the famous Chandra Bhaga fair held ?

{(A) Bundi (B) Pushkar

(C) Kesho Rai Patan (D) Jhalra Patan

THHN H WiTE A wEl wwn k2

(A) €38 (B) =t

(C) i@ wrzs | ‘mﬁﬁﬂm
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Who painted the famous ‘Bani-Thani' painting 7

(A) Sambdin (B) Gopiram

(C) Magridas (D) Nihalchand

whrg g gof-aofl’ & fammme feas fen 7

(A) wiEFEE (B) widrH

(©) i (D) o=

Which of the following pair is wrongly matched ?

(A) Pabuji - Kolu (B) Tejaji - Kharnal
(C) Mallinath - Gagron (D) Ramdevji - Ramdevra
oo & & @ @ g Tew geied © 7

(A) umE — &I (B) demEl — T
(C) wwdrme ~ mTl (D) TrrEs — THEET
'Katargarh' is a part of which fort 7

(A) Jodhpur {B) Gagron

(C) Achalgarh (DY Kumbhalgarh
‘weroe’ fre gl W AT E 7

(A) g (B) TH .

(C) orEme @ FHETe

Who built the Diwan-i-Aam in the Amber palace ?

(A) Raja Bhagwandas (B) Raja Man Singh
(C) Mirza Raja Jai Singh (1) Maharaja Sawai Jai Singh
AT HEW H G-y & e e s 7

(A) TN SEEEE (B) r HHHE

(C) foit T wraiftie (D) ST gar waids

‘Kangad Kand' is related to which peasant movement ?
(A) Peasant Movement of Shekhawati Area

(B) Peasant Movement of Jodhpur State

(C) Peasant Movement of Bundi State

(D) Peasant Movement of Bikaner State

Hime ws' & gEy Ty e ardda 48 7

(A) dramard) &= & fRaE s

(B) =gy TR &1 R SR

(C) & Tow & FRg™ anEie

ST T B HEE s
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Where did the first revolt break out in 1857 in Rajasthan 7

(A) Nasirabad (B) Neemuch
(C) Mount Abu (D) Ahuwa
T 1857 # wgen fugts wel gan 7

T (B) rm
(C) =Ars= &g (D) smgen

Who was Siddhraj Dhaddha ?

(A) Scholar of Jainism (B} Gandhian and Sarvodaya Leader
(C) Diplomat (D) Great Educationist
frata wmm M & 7

(A) Fwerf % g nifart i e A
(C) geifes (D) =er fmyred
Kumbh Shyam Mandit' - is located in which fort ?

(A) Chittorgarh fort {(B) Amber fort

(C) Kumbhalgarh fort (D) Achalgarh fort
T3 dfet ew el F fem % 7

@) feeers fem (B) amiT fvem

(C) Fwems e (D) sEwE fEm

'Kamadiya Panth' was established by -

(A) Ramdevji (B} Kallaji

(C) Pabuji (D} Gogaji
wiEar 99 @ @ R o ? |

(A) TeREsh (B) ety

(C) args (D) it
Which Sabha was.fnundﬁrd by Govind Giri ?

(A) Dharma Sabha (B) Bhil Sabha
(C) Raj Sabha (D} Samp Sabha
g i 3 fee wvr & wreen @ 7

(A) = w1 (B) e |

(C) W | mw
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Rathi breed is a cross breed of which two cow breeds Y

(A) Sindhi and Malvi (B) Sindhi and Sahiwal
(C) Sahiwal and Malvi () Malvi and Nagauri
T e we d 2o A gy & 7

(A) fafa g W | fafer = arfta

(C) wiftam = swEr (D) HiwEr & AT

‘Bhawanimandi' Railway station is situated on the border of Rajasthan and

6PAPERS.COM

(A) Punjab (B} Madhya Pradesh
(C) Haryana (D} Uttar Pradesh
TR A & b 9t wardeedl TR wew e

(A) b W] WEY

(C) = | (D) Tar 9w=9

Which river is not included in inland drainage system of Rajasthan 7

(A) Western Banas river (B} Ruparel river
(C) Saabi river | N} Kakni river
e % o war s g9 8 A € 49 afiie T E 7
yiydr T w9 (B) Wi A

(C) wrt wH (D) @ 74

MNorth to South lengih of Rajasthan State is kms.
TSI TE # 39T & afier werd et &
) =26 (B) 862

(C) 822 . (D) &69

Out of the following which distriet receives highest rainfall ?

(A) Jodhpur (B) Ajmer
(C) Bikaner (D) Sikar
Preffian forelt § & fow Fae o orfisew oo et # 7
(A) wirag (®) e

(C) dmt (D) #=Hist



RSMSSB Junior Instructor Electrician 24 March 2019 Question Paper 6PAPERS.COM

31

33

34

Area of Rajasthan is -

(A) 4,42.239 sg, km. (B) 432,329 sq. km.
(C) 3.42,239 sq. km. (D) 3,62,929 sq. km.
T T 8960 & —

(A) 4.42.239 =} fgrin (B} 4,32,329 = Tt
(©) 342,239 = fark. (D) 3,62,929 & fpdt,
Ancient name of Udaipur stale was -

(A) Jangal Desh (B) Kuru Desh

() Shivi (D} Yodheye

ST TG W YA A AT -

(A) e 297 (B} m&eq

fordr (D) gy

In Tilwara of Barmer ___ river meets with Luni river.
(A) Mitri ~ AB) Jawai

(C) Sukari ' {Dy Mahi

TeR F RmEam A A E . al Pmd@

(A) Padt - (B) W

© = (D)

Khari river originates from the hills of village north of Rajsamand
district. i

{A) Aarna {B) Bagota

(C) Basani (D) Bijral

arfl ) & g T fae & g F faa g B GEEAl # Bl 6 |
(A) et (B) amian

(C) =i | Tt

As per Koppen's classification, Jaisalmer and western parts of Bikaner are having
which of the following category of climate ?

BT FHELI & ST AATHT T AT & ofvedt v F Frefafaa § 8 B weare &
Aearg & 7 '

Bwhw (B) Cwg

(C) Aw (D) Bshw
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36 Which of the following region of Rajasihaﬁ is facing the problem of Ravine Land 7

3

38

39

40

(A) DBanas
(C) Ghagghar

() Chambal
(D) Banganga

e @ Rretatad § @ @ w de dws ufy o wie oot ¥ 7

(A) TER
(C) 9T

(B) ==

(D) =

Which of the following is used to treat constipation ?

(A) Castor oil {B) Kattha

(C) Henna (D) IDihak

Ptttz o A T v wew A w4 e W § 7

@ EERE s (B) e

(C) e (1) a1

In Rajasthan Tendu leaves are mainly used 1s manufacturing of -
(A) Oils (B Bidis

{C) Henna (DY Dive .
e ¥ dg oft w ggd e PR fet & e § 7
(A) @ i

(C) et (D} 7

Todearh Rawli wildlife sanctuary is sitated in which of the following region of

Rajasthan 7
{A) Ajmer - Jaipur - Sikar
(C). ‘Ajmer - Pali - Rajsamand

(B) Ajmer - Jaipur - Pali
{D} Ajmer - Udaipur - Sirohi

mmmmﬂmﬁﬂiﬁtﬁfﬁﬁﬁﬁﬁm@ﬁﬁﬁm% i

(A) @Y - wagqy — #iET
AAYT — YT — TEEES

(B) SW%T — WUy — Wl
(D) o - JRayy — ORI

'Gilue Baby Syndrome' is related to the pollution of which of the following category

of pollutants ?
(A) Chlorides
(C) Sulphates

(B) Chromates
(1)) Mitrates

Ppeffas & @ wgudt @ fee dof w0 e ey 39 R W R

(A) TAEER
(C) @wHH

(B) wrzg

©@) T
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41 Which of the following natural disaster is not presently related 1o Rajasthan ?

(A) Earthquake (B) Flood
(C) Drought (D} Tsunamis
TR & agaE § vl § @ @ & mat o & ey w8 b
(A) o9 (B) =
©) Sl
42  In Rajasthan which of the following fruit is produced mainly by Sirchi district ?
(A) Anars (B} Cheeku
(C) Malta (D) Mango
Frfafed & & @ W we T § e ﬁl‘{‘r&rﬁlﬁmwﬁﬁﬁﬁmﬁm% 7
(A) ¥R ®) @7
(C) =t (D) &

43 Live stock Research Station, Kodamdesar is located in -

(A) Jaipur (B} Jaisalmer
(C) Bikaner (DY Tonk
9] ATHUM @, BieAeET g ¥ -
A) TEYT H (B) SEwet §
TEAET H | (D) i o
44  Which irrigation project is not buill in Jhalawar district ?
(A) Bheem sagar (B} Sawan Bhadon project
(C) Chhapi project (I3} Harishchandra sagar
warErs e # @ o aftdioer @ o a8 fear T & 7
(A) o | - (B) == e
(C) vt gfrgrn (D) wfsre= arm
45 Mahi-Bajaj Sagar dam is situated in which of the following distriet ?
(A) Bhilwara (B) Banswara
{C) Kota (D) Jalore
m—wmwﬁmﬁmﬁﬂﬁmlﬁﬁﬂﬁwt ?
(A) herarst (B) e

(C) e (D) AT
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30

What is the new number of Delhi-Jaipur-Chittorgarh national highway 7
ferel—orag-TodeTs U TmEE] w1 T T o g 7

(A) N.H.-62 (B) N.H.-82

(©) NH.-48 (D) N.H.-68

Sabla Loharia Area of mining is situated in which of the following district ?

(A) Bhilwara (B) Dausa

(C) Barmer (D} Dungarpur

HaT-sE w1 e effen S S e Pw e & 7

(A) SrareT (B) #v

(C) @ (D) ey

Which one of the following district is not situated in sub-humid southern plain agro-

climatic zone 7

(A) Udaipur (B) Rajsamand

(C) Dungarpur (D) Bhilwara

Prifea o & w & fren wu—amd afii-ferh it swarg ey o faw ol g
(A) TEOR (B) T

(©) dmyx (D) ireraret

In which one of the following institutes, 'Desertification / land degradation Atlas' of
ISRO (SAC), Ahmedabad' was released on 17 June, 2016 7

T & e wer F s () apmEEE T 17 99, 2016 & e od e
wead' @ fadrae fear & 7

(A) CAZRI AFRI

(C) NATMO (D) DST Raj.

Which region is highly prone to earthquake in Rajasthan 7
(A) Gangunagar - Hanumangarh and Churu

(B) Bharatpur - Alwar and Jhunjhunu

(C) Jaipur - Dausa and Karauli

(D) MNagaur - Jodhpur and Pali

e ¥ gt qe a8 wh w g 7

(A} T - TAFTS 9 9E

AT -~ SEt d WL

(C) wagt — &rar g &

(D) sy — shEge 9 9wl

6PAPERS.COM
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What is the force between two small charged spheres having charges of 2 x 107 C
and 3 * 1077 C placed 30 ¢m apart in air 7

T H UH gHC R 30 T g W @ & e andf e ot w2 ¢ 107 C aar
3% 1077 C smaw & 1 w4 e fivaey aq 2 7

@) 6x10°N (B) 7x 103N

(C) B=103N (D) §x 103N

Coulomb force and gravitational force follow the same

(A} Ohm's law (B) Ampere's law

(C) Inverse - square law (D) Kirchoff's law

O W TG YHAEI & G _ W 9T w B |
(A) &g & Fm (B) uigay & fam

©) ==t = frm (D) Peveis &1 Praw

A network having one or more than one source of emf is known as -
(A) Passive network (B) Active network

(C) Linear network (D) Non-linear network
UE A UE G s gees a9 (emf) WA & gw we wwawn § -
(A) Frfe ofrg 9@

(C) T v (D) artd W

Two resistances R, and R, give combined resistance of 4.5 Q when connected in
series and 1.0 @ when connected in parallel, The resistances are -

(A) 3Q and 4 2 (B) 30 and 9 0

(C) 1.5Q and 3 O (D) 1.5Q and 0.5Q

a wferdet R, war R, 1 i weiom o wRrde 4.5 Q@ qn g we wde § g
uferdre 1.0 @ ¥ ) 91 aferde €9 -

(A) 3QF40 B) 3390

@© 15730 D) 1.5Q 7 050

The resistance of a 100 W, 200 V lamp is -
TH 100 W, 200 V &=3 @ gy & -
(A) 100 (B) 200Q

@ 400 Q (D) 1600 Q
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6l

[ : :
R=p i In this equation p represents :

(A) Conductivity (B) Mobility
(C) Resistivity (D) Velocity

R;p-%~gﬂﬁ'ﬁ’rﬂ‘i‘mﬁpﬂ'ﬁﬂw%—

(A) =R (B} niftrsiieman
@ afsrera (D) &M

The storage battery of a car has an em{ of 12 V. If the internal resistance of the battery
is (.4 Q, what is maximum current that can be drawn from the Battery ?
frdt H @ waes d2h @ R aws 3w 12 V E O ai 420 w0 wimiee w04 O

At dfiaE o T T M AR A g ¢
(A) S0 A (BY 28 A

(C) 32A ; 3{};&.

Three 3 Q resistors are connected to form a Triangle. What is the resistance between
any two corners of the triangle 7 :

30 WA % A oy uE Bga & BT 92w ¥ 1 Bie & BT @ o & o @
ofetg B 7

(A) %51 By 30

4
© 20 @ 39

Which of the following lamps will have least resistance at room temperature ¥

P & & ¥ & 9 & F97 & auwy T Preoy ufadwe 2w ¢
200W, 220V (B)Y 100 W, 220 ¥V
(CY 60 W, 220V (D) 25 W, 220V

Three resistors 2 £, 4 € and 5 © are combined in parallel. What is the total resistance
of the combination ?

2Q. 4Q 3T 5 Q % dF ufrdy wed A dditam ¥ | duem @ gw ufady @ e ¢

18 " 20
L B) 3

19 20
€ 7@ =0
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What is the onit of specific resistance of a substance 7

(A) ohm (B} mho

{C) ohm-cm (D) ohm/em

feet qard & fare wftrdy & co @ & 7

(A) @™ (B) =i

(©) st (D) ai/enfy

The resistance of a uniform metallic conductor is directly proportional to its -
(A) Mass (B) Length :

(C) Width (D)) Height

THT oy & UF G W W Ry % HIHEAIEN BT E |
(A) wEmm waT

(C) «@=r (D) Hurg

100 resistors of 100 Q each are connected in parallel. Their equivalant resistance will
be -
100 © & 100 Rt TR %9 & 93 g0 & | ST G W B -

(A) 10,000 (B)" 100
1
1 £}
© () 15,000 °
Kirchofl's junction rule is based on conservation of -
(A) "'_e’nltagc (B) Electricity
) H{jhargﬁ (D) Resistance
rars & Hfy g T & a9 9 i & |
(A) e (B) T
CE. . (D) whiow

Calculate value of R in the following circuit -

=1 oftuer & R % arr & e 60 -
24

oY S
?11§ Rg

17.5 O (B) 1720

(C) 1740 (D) 1780
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66 The algebric sum of voltages around any closed path in a network is equal to -

67

08

69

et ofrger & el &2 vg & ol @it Siea &1 99" 9
(A) 1 (B} 2

(C) 3 _ @) o

% gL B

T ‘-l
i, I,
> >
: i,
h
In the given diasgram relation betwcen currents accotding to Kirchoffs current
law is :
Eﬁgmnﬁmﬁ%wmnﬁmﬂmaﬁqaw%
{..I"!'L_] |1.:| Ij i:J, = !4 = I'5 LE] Il -+ I'.| - |!_{| = |"-_| + ie;
{LJ !-] "!-5 =j-3_—|‘.-3—.|!.¢ J:|+l:5 :'flz +!'3+|f.1
A magnetic tield exist arround -
(A) Iron (B) Copper
(C) Aluminium (D) Moving charge
U grEBE &3 4il @0 e w2 b -
(A) e & (B) T %
(C) weghtifmam & @ AFTHT A
(Gauss's law for magnetism states that the net magnetic flux thgwugh any closed
surface is -
e oW wew ¥ Prowman, o9 ge § @ e 9@ 5 g9 T e
BiEr & |
(A) 1 (B)

=

(C) 3 @
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Tl

e

73

74

For a DC generator, if constant losser are equal Lo variable losser, the efficiency of
the generator will be - _ :
(A) B0% (B) 90%

(C) Maximum : (D) Minimum
gt Wi & foro, oft R e, U FET & T B A T @y 2w wRi -
(A) 80% (B) 90%
aftrmas (D) Freas

Ficld coils of DC generator is made of -

(A} Copper {(B) Cast Iron

(C) Steel ~ {3 Carbon

Sl Wi W 8 fEee o B b -

(A) @ 3 (B) ®me @ |
(C) &m 4 (D) w4

For diamagnetic materials X is -

(A} Neutral (B) Large

(C) Positive ; (DY Negative
wirEata vardt % frd X wr A _ERE |

(A) SEEF (B)  afm

(C)  uATe® (D) e

The unit of magnetic flux density is -

(A) Weber/m? (B Henry/m?

(C) Newton/m? = ;[[J] s’tI':‘l;".u.:rn‘i:a’]’rl2
T WaH T B S B & -

gyl (B) B

(C) =gzapi? (D) uftqayH2

The effect of iron loss on DC generator is -

(A} Loss of efficiency (B) Loss of voltage
(C) Loss of current {1)) Loss of iron
g A e T S v g s E -

(A) zaa = wif (B) T & el

(C) =T o efy (D) e @ s
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Keeping pole flux constant, if the speed of a shunt DC generator is doubled, then its
generated emf -

(A) Will be doubled (B) Will be halved
(C) Will remain unchanged (D) Will decrease slightly
o Yo i T TEe g0 aft o A e Wi ot e e o ) W o I fagoenes
ﬁ e
RISl (B) amem w1 W@
(C) emfaida & (D) F& &9 & =am

The essential difference between an AC generator and DC generator is that -

.{A} AC generator has an electromagnet while a DC generator has permanent magnet.
(B) DC generator will generate a higher voltage.

(C} AC generator will generate a higher voltage.

(D) AC generator has slip rings while the DC generator has a commutator,

foely wdfl. o g S S A o A s W R R -

(A) wdt afe ¥ faeg duw o & ts A8 9hE A e 99 g E

(B) #idr. v o= diveat &1 994 S § |

(C) wHl s 9= gived & TF S0 6 |

udh. afe ¥ il awa 9@ ¥ oefs S, afe § e aiteds B g

The mechanical power developed by a DC Motor is maximum when the ratio of back
emf / applied vollage is -

ws 1.8 diet aftrram gitE gfe o= S0m 99 ¥ emf / wgE fgve & Ao g
(A} 1.0 (B) 3.0

©) os (D) 0.7

In a DC series motor; shaft torque is less than the armature torque due to -

(A} Stray losses (B) Eddy current losses

(C) Hysteresis losses (D) Copper losses

. Aol dizT #, o gEg™ & At aEg ¥ H9 8H W T E -

@) = wfwf (B) g ar s

(C) Teedifta sl (D) = el

What will happen if the back emf of a DC motor vanishes suddenly ?

(A). The motor will stop (B) The motor will continue to run
(C} The armature may burn (D) The motor will run noisy

afy S, wet @ gyd Rrgans & sueE guTa B 9 d F s ?

(A) ¥zt 4% B = (B) et @t

(C) et ww wwa ¥ (D) Hrex smam g6 &t o
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80 Small DC motor upto 5 HP usually have -

(A) 2 poles _ (B) 4 poles
(C} 6 poles (D} 8 poles
5 HP 5= wrdt €rdn #iet & g 28 & -

@ 24w ®) 4 7
(C) 647 (D} 8 ya

81 Ifa 230 V DC series motor is connected to 230 V AC supph then
(A) it will run smoothly
(B} it will stop
(C) it will burn out
(D} it will run with less efficiency and more sparks
afs & 230 V .8 4ol gy 5 230 V o Tl § W e A
(A) @E amm & o
(B) =% ®% W
(C) @& wiw wmoh
ge e zear 9 ofus o & Wy ge

82 The hysteresis loss in a DC Machine least depends on
(A) Frequency of magnetic reversals (B) Maximum value of ﬂu:-: density

{C) Volume and grade of iron (D) Rate of flow of ventilating air
g mim ¥ feefedn ofy * w9 H A 9T ey s &

(A) de@G Iepm @t argh (B) woew e & Afsay geg
(C) it @ sraa AT iz (D) *amm w1 & wemE # A

83  Nature of efficiency curve of DC Machine is -
(A) First decreases then increases. (B} First constant then decreases.

(C) First constant then increases, (D) First increases then decreases.
S, Ay @ Tae 9w W gl & -
(A) u&e =2ar & feg wear & | (B) wewt feart ftpr gear &
(C) wedt flart 5y qoar & | (D) wedt wemn ¥ for e ¥
84 If ¢ = Asinwf and ey = Bsin(wr—6), then
(A) e lags e; by @ ~ (B) ey lags g 'h}f ]
(C) e leads ¢ by g (1) & and ey are in phase
aft e = Asinwt a4 ey = Bsin(wt—8) ¥, @
(A) e, 0 & gyl ¥ ey @ (B) e, 0 @ wyETH ¥ o 7

(C) ey, 9 8 smmelt & ¢ @ (D) € 9 e; ®eW H BN
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o
282
g5 If the mean value of an AC volape is ;: volts, then its RMS value 15 -
(A) 28 wvolts (B) 14 volts
(C) 142 volts (DY 0 volt
| 282
gfz AC forve =1 afrme w9 s t O EE 1 WS §§ 5 BN -
(A) 28 g 14 vz
(C) 142 g (D) 09
86 If one cycle of AC oceurs every milli second, then the frequency will be -
A ]—Hz B 0
A Tooo o B
(C) 100 Hz (Dy 1000 Hz

A AC B up TF yiw fie da # i B E d meE v w9

| B
1000 (B) 50 %<w

(C) 100 & 1000 =

(A)

87 If the circuit contains only an inductor or capacitor, than the phase difference between
voltage and current is -

oft oftgw # %ad us Ui Ay Gt § 9 9T uF deean 6 4 % ot BT B -

Ay =
{}4 B &

@ % (D) 2m

88 A light bulb is rated at 100W for a 200V supply. Find the rms current through the bulb.

U TR g 200V Srgfd 9 100W s 39 % oA e | ww F warted B A
rms M §Td Hitad |

(A) 650 A (B) 550 A

@ 450 A (D) -600 A
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89

21

Two sinusoidal currents are given by

i = 10sin| wr +EJ
\ 3

(
i =15sin w!—E]
L 4

the phase difference between them is

3 SEEmE g w adETr e

j s H]sin(wr-lrg-J

i :lﬁsin[wr——}J

T e T R —

1050

(C) 15°

For an alternating voltage, form factor is

RMS value
(A) Mean value

RMS value
Peak value

vl fave & f v e ¥

aiiﬂanﬁ

” TS | "
&) #ftepay 7

(C)

Full form of CRO is -
(A) Cathode Ray Oscillator
(C) Capacitor Resistor Oscillator

CRO &1 9T 7 &
(A) s fEror e
(C) wui wiodhus i

(B)
(1)

(B)

(L)

(B)

(D)

(B)
(D)

TN

Mean value
RMS value

Peak value
RMS value

#rea A
e HE HH

wfepay A9
THY & T

Cathode Ray Oscilloscope
Capacitor Resistor Ourput

Fere fisrer Sfimnd

()

Huia widus Frla
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92 The current requirement of an LED is -

(A} 1.7 mA (B 25 mA
(C) Between 3 and 35 mA (D) 65 mA
ug UW 3 2 % e e w1 aEvasa i ¥ o
(A) 1.7 mA (BY 25 mA
(C) 3 ot 35 mA & WA (D) 65 mA
93  Formation of a junction between a sample of p-type and n-type material causes which action :
(A) Reetifying (B} Conducting
(C) Insulating (D} Amplifying
T pWl I F WE FTodm e w e i e m e & 7
Reezardy (B) @
(Cy  wiaTresr () uesH
94 When a semiconductor in heated, its conductivity :
{A) Increases (BY Decreases
(C) First increase then decrease {D} Doesnot change
o9 UE dEges & T e w9 o e
e & B) THE
(C) wsd =g ¢ e 9= & (D) arreafa &
95  This pate 15 also known as inverier,
(A) AND gate {B) OR pgate
(C) NAND gate (D) NOT gate
¢ T TeENE O WiaaEE 0 dee © o
(A} AND = (B) OR 72
(C) NAND 72 ©) Not e
9  Which number system has a base of 16 ?
{A) Decimal (By Octal
(C) Binary (D) Hexadecimal
HI-E1 3 GER B aTHn 16 g ¥ 7
(A) =g (B) g .
(©) agd (D) FwrmEfm ﬁ

97 Maximum number in decimal thal can be represented by 4 bits (binary) is :
&—afm vzl # 4 Feg oo wilm sftea 2ywe gen & -
(A) 4 ' (B) 7

©) 15 (D) 16
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98

29

140

101

102

103

A nibble is equal to how many bits 7
% fraw # feett feg ol & 7
(A) 1 (B) 2

©) 4 | . D) 8

In AND gate, the output of gate is 1 only when input A and mput B are both

AND %z #, 7z %1 frte 71 1 dvar & e o0 Frier A ofve ey B 2t %)

(A) 0O : ®) |

(Cy 2 (D) 3.

In a transformer, the -:upper [mq at. hall‘ load as compared to copper loss at full load
will be :

(A) 4 times hie (B} 2 timcs

(C) Half (D) One fourth
Wqﬁwﬁﬁﬁﬁﬁmﬂmﬂﬁm—mﬁ'ﬁwwmmﬁﬁaﬁwﬁﬁﬁ :
(A) 47w | (B)y 2 qm

(C)  amdy | ‘ T s

Which of the following transformers Wlﬂ be largest in size ?

ﬁmﬂﬁﬁw—ﬁwﬁmﬁawwaﬁlﬁm 7
@ I kVA, 25 Hz : " (B) 1 KkVA. 50 Hz
(C) 1 kVA, 60 Hz (D). 1 kVA, 100 HZ

If the secondary coil has a greater number of tums than the primary coil, the transformer
is R

(A) Step up (B) Step down

(C) Nnrt_n.-:ul (D) Auto transtormer
AR s geeht o waths g § ot WY ¥ O o smweit
T (B) e

(C) wr= (D) w@: ghtmfis

For umt transformer high voltage must be |

Uh THIE TG % o e dwemn _ wF wfEd

(A) 400 kV (By 200 kV

@ 24 kV (D) 100 kV
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164

105

106

107

108

The function of conservator in (ransformer is @

{(A) To prevent flow of meisture into the tank

(B) To prevent flow of air into the tank

(C) To take care of expansion and contraction of oil in tank
(D) To improve power factor '
gfronfes § weAtdet ® e g ¥

(A) & ¥ amdon wame @ e

(B) €& ¥ arg yarg &1 U

¢ o e & Yemd ou SEed &1 b s
i

(D) 9T Tuiids UG

The fact that a transmission conductor carries more current on the surfage as compared
to core. is known as

(A) Skin effect (B) Corona

(C) Ferranti effect (I2) Unsymmetrical fault

U W WA & UEE B GIE 9T THE DT &) qeen § ol 9 waw w6 &, 98 e
FEAAT & —

(A) e v (B) @M

(C) ®=r 9oy (D) wEwfiE

The chances of corona in transmission line are maximum during ;
(A) Summer (BY Winter

(C)" Dry weather (D} Humid weather

ey s o w6 dvEe |5 T § o

(A) waraf % (B) wfiaf A

(C) q@& = & (D) ok ammTer ¥

Under no load condition, the current in transmission line is due to
(A) Corona effect (B) Capacitance of line

(C) Back flow from Earth (D) Spinning reserve

HUOr @R H AT TEA erEmnm W U0 WA @ & & -

(A) WO W (B) e @ et

(C) g&t & fauim wam (D) g frored

The material commonly used for insulation in high voltage cable is :
{A) Rubber (B) Paper

(C) Lead (D) Iron

I ded v § THAeH % 0 e ot v # we Al e E -
(A) == (B) @

(C) (D) e

6PAPERS.COM



109 A line which connects between substation and distribution transformer is known as |

110

111

112

113

(A) Primary feeder (B) Secondary feeder

(C) Transmission feeder (D) Sub transmission feeder
Ha-R9 H e afemfe § WS o anT s o

waftE et (B) i d=t

(C) =T By (D) T9 &9 BT

Which distribution of power system is most reliable ?

(A) Ring main system {B) Tree system

(C) Radial system (D) Tree and Radial both systems
Pre & S ofe faa gafr afte Rveeda & 7

for & wafy (B) #roahr

(C) feuw wafy (D) & = s & wafwat
The distributors for residential areas are —

{A) 3 phase 4 wire (B) 3 phase 3 wire

(C) Single phase (D) Double phase

e &= & ol o ¥ - ‘

3 4 =TT (B) 3 % 3 9t

(C) uwa %= ) B (D) =T W

As compared to a 2 wire-DC-distributor, a 3-wire distributor with same maximum
voltage to earth uses only :

(A) 31.25% of copper (B) 66.7% of copper

(C) 33.3% of copper (D) 125% of copper

2-arT B foeres A gon ®, e e & Tl sifteow deear % arg 3-an fame daw
W T § -

(A) 1% = 31.25% (B) @@ &1 66.7%

©) & @ 333% (D) % &1 125%

Breaking capacity of an A.C. circuit breaker is usually expressed in terms of :
(A) Amperes (B) Volts

(C) MW (D) MVA

A.C. ofrey fadms & faedss awm avegar = & ¥ |

(A) ufmat (B) dfee §

(C) MW @ MVA #
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114 During arc extinction in SF, circuit breaker, the gas !

(A) Decomposes inte S andF ions (B} Decomposes into SF,; and 5F,

(C) Gets oxidized (D} Reduces to SF,

SF, oftay Rmies o Am—9me & 20, T

(A) ST [ amgs & fawied 81 ol & 1 SF, war SF, & fyafea 2 o & o

(C) @1 amedimTn & el & | (D) SF, ¥ @&« wndl & |

115 Air used in air blast circuit breaker
(A) must have least carbon dioxide
(B} must be ionized
(C) must have o1l mist
(D) must be free from moisture
arg & oftgy fadiees |, 91y
(A) ¥ Feram wr sEoTEEEs BW e |
(B) omgiigia w141 18T |
(C) ¥ 3w =y gH1 igg |
(D) # sk = €l afig |

116 An ideal circuit breaker should offer -
(A) Zero and infinite impedance before and after interruption respectively.
(B) Infinity and zero impedance before and after interruption respectively.
(C) FEqual impedance before and after interruption.
(D) Zero impedance before and after interruplion.
UH HEST aray fqedew w wEE e wiEd -
(A) e vwmEez & ve el W ¥ g o aria whraTer
(B) wwen: Twge | wee ot 4w A g ol g gfemn
(C) wwEz | ugw &t 9 # gam wkrrn
(D) ®@Ez § 9ea ST g H S WhrE

117 As temperature rises, the resistivity of insulation of cable -

(A) increases linearly (B) remains unchanged
(C) decreases linearly : (I} decreases exponentially
HqE B AT B FCTLERR, TERT g% 9T -
(A) rdm =3 (B) amTEfae @
(C) Ydrg w2 (D) =t w9 ¥ v
118 In underground cable, the voltage stress i3 maximum at -
(A) Core of the conductor (B} Surface of the conductor
(C) Sheath (D} Armour
T e o fawg geg sfuman ek
@ HE® & WL O1 (B) =w® ® T8 UL

©) (D) &mHT W
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119

120

121

122

123

124

For underground cables the depth of trench is usually :

(A) 101015 ¢cm (B) 20 1o 30 cm

(C} 6010 70 em (Dy 120 to 140 cm
it Faw % g wr (Fa) 9 o g i

(A) 109 15 &6 (B) 20 & 30 3

(C) 60 & 70 (D) 120 & 140 i
single core cables are usually not provided with -

(A)  Sheath (B} Steel armouring

(€}  Rubber insulation (D)) Paper insulation
Tehd L had. § R YR TE S §

(A) s Wi it

(C) & saey (D) 99T SR,
Damping torque in instruments is generally not produced by =
{A} Pneumatically : (B) Electro-magnetically
(C) Electrostatically ' (D) by Muid friction
THgH= | d%‘ﬂﬂﬂﬁﬂ?ﬂﬂ?mf:ﬂﬁ Eﬂﬁ?ﬁﬁ?ﬂimﬂ% |

(M) =) A (B) T gradim =g
’ﬁﬂﬁgﬂﬁﬁrﬁ | {maawmn_ :
132 LV ;‘UZ voltage can be mcaqure,d ]:r} - =i

(A) Moving iron voltmeter - {B) Moving coil voltneter
(C) - Hot wire voltmeter = (L) Electrostatic voltmeter
132 kV AC fay9g A7 o £

(A) 97 W% SeedErd > mWMﬁﬁ
(Cy 7 &Y e ‘ ﬁwégﬁﬁmﬁmﬁr

A 100% voltmeter has an accuracy of 5% on full scale. The percentage error while
measuring 50V will be : !

% 100 die2 dier 2t St o7 g 5% 3 | 50 "iee "9A WY wfasa gz Ehi

(A) 2.5% (B) 5%

(C) 7.5% @j 10%

A power lactor meter has':

{(A) 4 control springs (B) two control springs
(C) ‘one control spring (D) No control spring
U sife e e F wR ko

(A) 4 Frgsmy fisier (B) & frdam fimm

(C) us fraor fism @ﬁ!ﬁﬁﬁiﬂlﬁﬂﬂ“lﬁ



RSMSSB Junior Instructor Electrician 24 March 2019 Question Paper 6PAPERS.COM

125 A meggar is -

126

127

128

129

(A} Moving iron type instnument (B) Moving coil type instrument

(C) Hot wire instrument (D)) - Electrolytic instrument

T AT OERT §

(A) T% ¥ WHIT B O (B) = F=eit wwC w A

(C) ™ a9 (D) T smeeda o=

The equipment installed in power plant to reduce air pollution due to smoke is !
(A} Induced draft fan (B) Superheater

(C) Electrostatic precipitator () Reheater

g g # g0 A B A GG Ve @ B9 T & fo0 e oS R E
(A) W@ s dar (B) TS

(C) Peartigm Frams (D) g

Which of the following generation station has minimum running cost 7
(A)  Nuclear (B) Hydro

(C) Thermal (D) Diesel

frefaflas & @ Py gmmed 78 § Sgwan oftae @ E -

(A) e T

(C) weig (D) #m

Which of the following method of génerating electric power from sea water is more
advantageous 7

(A) Wave power (BY Ocean currents

(C) Tidal power (D) Nuclear power

frefftrg & & He-d fafa T o 3 frge e S w0 & Rl aifs RS & 2
(A) woT e (B) g amd

(©) = g (D) weamy s

Hydroelectric power plant is —

{A) Mon-renewable souce of energy

(B) Conventional source of energy

(C) Non-conventional source of energy

(D) Continuous source of energy

qfaarer gas ¥ -

(A) wai @1 i Adweia EJ5 .
Ft w1 At w

(C) St w1 T—ariafts

(D) =t @ friat |
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130 Which of the following is not a requirement for site selection of hydroelectric power

plant ?
(A) Availability of water (B) Large catchment area
(C) Rocky land (D) Sedimentation
fr=fafas & & @9 o1 e 999 % o 99 & Ro us argvasar a8 ¢ 2
(A) 9HET FH Iuw=R (B) #% wwmewr &9
(C) wadiir i (D) wwwe
131 Which of the following has highest moderating ratio 7
(A) D0 | (B) H,0
(C) Carbon (D) Helium
frrefoftas o & foema efawes aiztir agum gm b 7
@ D,0 (B) H,0
(C) wmEA (D) diferam

132 When the control rods are inserted into the reactor, K (Multiplication factor) becomes -
T P T W AT § i weamn we & At KO (e @res) @ W w ara & -
(A) O (B) =1 '

(Cy 1 <1

133 Horizontal axis and vertical axis are types of which non conventional power plant ?

(A) Nuclear plants (B) Wind mulls
(C) Biogas plant (D} Solar cell
fefers 5 weiay se fea aorTe Rom ga3 % v E 7
(A) -THdm d@ds qqq gE
(C) =farg H@a= (D) #rc &

134 A module in a solar panel refers to -
(A) Series arrangement of solar cells
(B) Parallel arrangement of solar cells
(C) Series and parallel arrangements of solar cells
(I}) Radial arrangement of solar cell
W e ¥ aregw dh e & -
(A) dtat @ &1 400 woEeR |
(B) HeIT 8% & WA FHEEET
T B @ Aol T ST S
(D) weT & 2t g svegaea
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135

136

137

138

139

140

Which of the following area is preferred for solar power planis 7
(A) Coastal areas (B) Hot and arid zones
(C) Mountain tops areas (D) High rainfall zones
B & f—ar &9 wiee St dd & fog 3 ¥ 7 '
(A) o E g g i
(C) waaE & (D) e =t &=
Full form of ELCB is -
(A) Electrolytic circuit breaker (B) Earth locking circuit breaker
(C) Earth leakage circuit breaker (D) Electric leakage circuit breaker
ELCB & QU1 #M & -
(A) TeHIEIeE Wihe FHT (B) a1 =g e 4t
(C) wd it Wik ¥ (D) swfEs wew Hihe 36t
For a 2.0 Ton air conditioner, which wire size is suitable 7
v 2.0 T waT SEET F fw e § ¥ SE-w A E SR gugd ®
(A) L5 mm? | (B) 1.0 mm*
(C) 2.0 mm? 4.0 mm?
Which device is used as a safety device ?
(A) Motor (B) Generator .
(C) Tuse (D) Inverter
P iR @) GUE g @ aTE WA e o §
(A) =t (B) @
@ Y . (D) T=et
Fuse wire should possess —
(A) High specific resistance and high melting point.
(B) High specific resistance and low melting point.
(C) Low specific resistance and low melting point.
(D) Low specific resistance and high melting point.
T A U B i -
(A) e Fafyre whn qa 5= T g
(B) ey fafyre whtre @ Py Teis fig
fire Tefire wftrdrg s ey e fog
(D) =t fafire wRidg @ 9o weeis g
Stair-case wiring uses :
(A) 2 one way switch (B) 1 twq way switch
(C) 3 one way switch (D) 2 two way swilch
Hifsdt &y amaftr & wam 2 § e
(A) 279 o f== (B) 12 @ figm

'E
(C) 399 & fis (D) 273 fam
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141 Which type of wiring is recommended only for temporary installation ?

(A) Cleat (B) Caping casing
(C) Conduit (D) Batten
st 3 W -l amaftn s wen  frg wugw & 7
(A) = (B) T
(C) wR (D) =

142 In electric wiring, all electrical equipments are connected in -
(A) Parallel (B) Series
(C) Series-parallel (DY) End to End
Prega amaftn % ot gl swer g AR ¥
(A) wawmT # (B) - aft &
(C) aofr—omrrrT (D) frt & e &

143 The heating element in an electric iron is usually made of —

(A) Brass (B) Iron

(C) Nichrome (D) Platinum
U AEE UH § 9 o oA uT S wen E -
(A) b = (B) w% &
(©) @ (D) wifeam &

144 In a ceiling fan capacitor is connected -
(A) In series with supply (B} In parallel with supply
(C) In series with starting winding (D) In series with running winding
Uw B % T A e e w &
(A) @@ & 4 & (B) = % womraT o
(C) wfen awfen % anfy (D) TR awfEn & aoh ¥

145 Which part of microwave oven generates microwaves 7
(A) Generator : (B) Magnetron

(C) Metal mesh : (D) Booster
MEHIET ET & BT 0T TEHET 39 s E 7
(A) =i R

(C) arg wmwr (D) =X
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146 Which type of motor is used in pump of domestic water cooler 7

(A} Shaded pole motor (B} Repulsion motor
(C) Hysteresis motor | (D} AC series motor
ke AT G F U9 # B et W w7

fi¥e e et (B) Prowe diet

(C) Feeifhm 9=t (D) wHr gy w2y

147 What is the amount of charcoal and salt needed for GI pipe carthing ?

(A) Charcoal 5 kg, salt & kg (B) Charcoal 10 kg, salt & kg
(C) Charcoal 10 kg, salt 10 kg (D) Charcoal 5 kg, salt 5 kg
GI urgg siffm o = GO TS @ O OB ' 7

(A) 5 fem A, 8 fEan 796 (B} 10 fpm =mewta, 8 a9

@ 10 fer arcs, 10 Bemm w0 (D) 5 fm e, S R TS

148 Whal should be the value of earthing resistance for large power stations 7
(A) 1 Q (B) 0.5 Q
C) 2 £ (Dy 5 Q %%
uw geq Tl g & frg afl ufrdy @1 @ A e Ay 7

(A) 1 @i 0.5 a7

(C) 2 omm (D) 5 &m

149 Earth wire is connected to the -

(A) Ground (B) Phase

(C) WNeutral (DY Power house
et G | K| M O

v @ (B) % @

(C) =zw ¥ (D) 9raT &4 |

150 The size of earth wire is determined on the basis of -

(A) Voltage of service line (BY Current carrving capagcity of line
(C) Atmospheric conductor (D) Frequency of supply

arel AT W W T e oy it e ¥ %

(A) wffa @5 & fawg wx (B) e & H YA AW 9

(C) aEEiE JwmE T (D) UwE s 91



